
Λ = N@Sqrt@5D - 1D � 2;

Φ@_D@x_D := x;

Φ@ns___, n_, nn_D@x_D := Module@
8
s = Times@ns, nD,
x0, y0, x1, y1, mu

<,
y0 = Φ@ns, nD@x0 = Floor@s * xD � sD;
mu = 1 � s^2;

If@Hx - x0L * s * nn < nn - 1,

H*then*L y0 + mu * Hx - x0L,
H*else*L y1 = Φ@ns, nD@x1 = x0 + 1 � sD;
x0 += Hnn - 1L � nn � s;

y0 += mu * Hnn - 1L � nn � s;

y0 + Hy1 - y0L � Hx1 - x0L * Hx - x0L
D

D

Plot@8Φ@2D@xD, Φ@2, 3D@xD, Φ@2, 3, 4D@xD, Φ@2, 3, 4, 5D@xD<, 8x, 0, 1<D
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Plot@8Φ@3D@xD, Φ@3, 3D@xD, Φ@3, 3, 3D@xD, Φ@3, 3, 3, 3D@xD<, 8x, 0, 1<D
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